


7,656,000

6,960,000

L=34.5m W=3.6m
No.1+8.3m No.2+5.0m No

\V=
V=
(t=3cm) A=

v L=

.21 No.21+17.8m)
467.0 m3

14.0 m3

191.3 m2

16.8 m




06 07 01

05 10

06 04

05




H00100

7,656,000
H00200
7,656,000
02
K0002
7,656,000
Q00001

7,656,000




02

K0002
1 7,656,000
X
1 1,509,000
Y
1 725,000
« )
«C ) D0006 -202
5,000m3 196 m3 660 129,360 1
( O )(
SPR209-0001 -200
271 m3 940 254,740 1
« )
D0007 -202
5,000m3 480 m3 711 341,280 2
Y
1 12,000
+ D0004
7 m3 786 5,502 3
4 0.38km SPB801-0006 -56
0.45m3 5 m3 818 4,090 2
D0005
7 m3 373 2,611 4
Y
1 12,000
m 2m SPX012-0002 11
13 m3 283.5 3,685 1




Im SPX016-0001 -22
3 m3 2,910 8,730 2
Y
1 169,000
SPA501-0002 -14
0.45m3( 0.35m3) 19153 m2 887 169,683 3
Y
1 591,000
1.6km SPB801-0002 -56
0.45m3 464 m3 1,144 530,816 4
( ) (10,000m3 ) E0001
464 m3 130 60,320 1
X
1 1,090,000
Y
1 1,090,000
3cm
250m2 S02705-0002 -2- -1
191:3 m2 5,700 1,090,410 5
X
1 460,000
Y
1 460,000
D0001
1 460,539 460,539 5




1 154,000
Y
1 129,000
1 D0003
1 129,157 129,157 6
Y
1 25,000
( ) A
@ 80 TPRO428 P-11
5 5,070 25,350
X
1 145,000
Y
1 79,000
SPH201-0001 -168
1.9 m2 13,489 25,629 6
( )(
@ =300mn 3 $51207-0001 -287 54
25 2,136 53,400 7
Y
1 66,000
¢ )
2.5 0.1 SPS111-0001 -2
102.8 m2 647 66,511 8
P0000001

3,358,000




HO03701
1 647,200
( )
H00802
1 4,200
H20003
1 4,200
TPR0425 p-12
( 20 ) 1 4,200 4,200
« )
H00803
1 643,000
3,358,000%19.17% Q07910
1 643,000
H00600
1 4,005,000
4,005,000*40.91% Q07601
1 1,638,000
H00500
1 5,643,000
5,643,000*23.31%+2,257 Q07501
1 1,317,000
H00400
1 6,960,000
6,960,000*10.00% Q00401
1 696,000




7,656,000

Q00402




<<

>>

05

<<

>>

3,358,000

0

100,740 = 3,358,000 * 3.00 / 100

0

3,358,000 = 3,358,000

19.17 = 19.17

643,728.6 = 3,358,000 * 19.17%

0 = 3,358,000 * 0.00%

643,000 = 643,728.6 + 0

3,358,000

0
0
0
0
0
0
0
0
0
0
3,

358,000 = 3,358,000 - 0




643,000 = 643,000 * 3,358,000 / 3,358,000

4,005,000
4,005,000 = 4,005,000
40.91 = 40.91

1,638,445.5 = 4,005,000 * 40.91%

0 = 4,005,000 * 0.00%

1,638,000 = 1,638,445.5 + 0

4,005,000

o o/o|o|lo

0

4,005,000 = 4,005,000 - 0

1,638,000 = 1,638,000 * 4,005,000 / 4,005,000

5,643,000

5,643,000 = 5,643,000

23.31 = (-4.97802 * Log(5,643,000) + 56.92101) * 1.00

1,315,383.3 = 5,643,000 * 23.31%

2,257 = 5,643,000 * 0.04%

1,317,000 = 1,315,383.3 + 2,257




5,643,000

0

0

0

0

0

5,643,000 = 5,643,000 - 0

1,317,000 = 1,317,000 * 5,643,000 / 5,643,000




02
3,358,000 3,358,000
647,200 647,200
4,200 4,200
0 0
0 0
0 0
0 0
0 0
0 0
4,200 4,200
643,000 643,000
643,000 643,000
4,005,000 4,005,000
1,638,000 1,638,000
5,643,000 5,643,000

10




02

1,317,000 1,317,000
6,960,000 6,960,000

696,000 696,000
7,656,000 7,656,000

11




1 (D0006)

C ) 97 m3
( 5,000m3 , ) ( -202 , )
12014
0.45m3(  0.35m3) TNG02003721 p2-1-14
1.48 18,100 26,788
C )
TR01021 R-1
1 27,600 27,600
JISL 2 TJQ0502 J-73
69 140 9,660
P0000001
64,048
P0000002
660

12




2 (D0007)

C ) 90 m3
( 5,000m3 , ) ( -202 , )
12014
0.45m3(  0.35m3) TNG02003721 p2-1-14
1.48 18,100 26,788
C )
TR01021 R-1
1 27,600 27,600
JISL 2 TJQ0502 J-73
69 140 9,660
P0000001
64,048
P0000002
711

13




(D0004

)

+

m3

)(
SPR302-0001 -201
m3 373 373 9
3 4 D0O008 -214
m3 413 413 7
P0000001
786
P0000002
786

14




(D0005)

m3

)(
SPR302-0001 -201
m3 373 373 9
P0000001
373
P0000002
373

15




5 (D0001)
2
2
U X
1 303,607
U
800x 800 D0002
16.8 16,419 275,839 8
12.5cm 17.5cm SPX034-0001 -42
40 0 18.5 m2 1,501 27,768 3
2
2 X
1 143,756
18-8-40BB( ) SPX123-0001 -198
1:15 m3 35,280 40,572 4
SPX125-0002 -209
11:71 m2 8,440 98,832 5
12.5cm 17.5cm SPX034-0001 -42
40 0 2.9 m2 1,501 4,352 3
X
1 13,176
1m 2m SPX012-0002 -11
3 m3 283.5 850 1
Im SPX016-0001 -22
1 m3 2,910 2,910 2
SPX014-0002 -18
21:.4 m2 440 9,416 6
P0000001
460,539

16




(D0001)

460,539

P0000002

17




6 (D0003)

1
1 ¢ 1000
@ 89.1x 3.2x 4400( ) TTC924 P8a1
910 1 108,000 108,000
18-8-40BB( ) SPX123-0001 -198
0.15 m3 35,280 5,292 4
SPX125-0002 -209
1.2 m2 8,440 10,128 5
7.5cm 12.5cm SPX034-0002 -42
40 0 0.4 m2 1,348 539 7
SPX012-0001 -11
1 m3 2,112 2,112 8
Im SPX016-0001 -22
1 m3 2,910 2,910 2
SPX014-0002 -18
0.4 m2 440 176 6
P0000001
129,157
P0000002
129,157

18




7 (D0008)

( 100 m3
( , ) ( -214 , )
JIsL 2 TJQ0502 J-73
17 140 2,380
C )
TR01021 R-1
1:16 27,600 32,016
[ 2 )]
3.0 4.0t TF04061 F-3
1:86 3,730 6,937
P0000001
41,333
P0000002
413

19




8 (D0002)
U 800x 800 10
)
800 800mmM TPT4317 P-20
10 13,000 130,000
S05801A-0001 “1- -1
10 3,419 34,190 10
P0000001
164,190
P0000002
16,419

20




(E0001)

«C ) (10,000m3 ) m3
) (10,000m3 ) LSPX003-0001 P-357
m3 130.4 130
) (10,000m3 )

P0000001
130

P0000002
130

21




1 (SPR209-0001)

( O X( 10 m3
-200 , )
TR01003 R-1
17 22,000 3,740
12014
0.45m3(  0.35m3) TNMG02003721 P2-1-14
13 18,100 2,353
C )
TR01021 R-1
09 27,600 2,484
JIsL 2 TJQ0502 J-73
9 140 826
P0000001
9,403
P0000002
940
1
(KS)=10x (ks)+ (D)
0.13=10x 1.5+ 116
(R14)=10x 1.0+ (D)
0.09=10x 1.0+ 116
(Ky)=10x (ky)+ (D)
5.948=10x 69+ 116
]
[B] = 3 [A] =

22




2 (SPB801-0006)

4 0.38km 7.92 3
( 0.45n3 , ) ( -56 ) )
« )
TR01022 R-1
17 24,300 4,131
JIS1 2 TJQO502 J-73
4 140 756
4 TM103000211 P2-1-21
1,540 1,540
4t TFMO101 P2-5-1
50 50
P0000001
6,477
P0000002
818
1
L=I[C]
0.38=0.38

Cm=@)x (L) (@) 1
15=4.8x 0.38 13

(6)=0.9
0.9=0.9
(Vt)=60+ (Cm)x (@)x (E)

7.92=60+ 15x 2.2x 0.9
(KW)=FUNC_KFACT((KSc), 6) (kW)
135=FUNC_KFACT(TM103000211,6)

(Ky)=(KW)x 0.040 1
5.4=135x 0.040
(R15)=1+ (T)

0.17=1+ 5.9

23




2 (SPB801-0006)
4 0.38Kkm 7.92 m3
0.45m3 ) ( -56
[Al = 2 4 [B] = 1
[C] = 0.380  km [D] = 2 0.45m3
[E]1= 3 [F=1

24




3 (SPA501-0002)

100 m2
( 0.45m3( 0.35m3), ) ( -14 , )
TR01001 R-1
0:3 29,200 8,760
TR01003 R-1
2 22,000 44,000
2
0.45m3( 0.35m3) TM502002211 pP2-1-10
4.3 2,730 11,739
« D
TR01021 R-1
0.69 27,600 19,044
JIS1 2 TJQ0502 J-73
37 140 5,180
P0000001
88,723
P0000002
887
L 1
(KW)=FUNC_KFACT((KSc),6) (kw)
60=FUNC_KFACT(TM502002211,6)
(ky)=(KW)x 0.144 1
8.6=60x 0.144
Ky)=(ky)x (KH)
36.98=8.6x 4.3
(rid)=1- (M 1
0.16=1+ 6.3
(R14)=(r14)x (KH)
0.69=0.16% 4.3
[ 1
[A] = 1 [B] = 0.45m3( 0.35m3)

25




3 (SPA501-0002)
100
(  0.45m3(  0.35m3), ) ( -14 , )

=1

26




4 (SPB801-0002)

4 1.6km 5.66 m3
( 0.45m3 ) ) ( -56 ) )
« D
TR01022 R-1
17 24,300 4,131
Jist 2 TJQ0502 J-73
4 140 756
4 TN103000211 P2-1-21
1,540 1,540
4t TFM0101 P2-5-1
50 50
P0000001
6,477
P0000002
1,144
1
L=[C]
1.6=1.6

Cm=@)x (L) (@) 1
21=4.8x 1.6 13

(6)=0.9
0.9=0.9
(Vt)=60+ (Cm)x (@)x (E)

5.66=60+ 21x 2.2x 0.9
(KW)=FUNC_KFACT((KSc), 6) (kW)
135=FUNC_KFACT(TM103000211,6)

(Ky)=(KW)x 0.040 1
5.4=135x 0.040
(R15)=1+ (T)

0.17=1+ 5.9

27




4 (SPB801-0002)
4 1.6kn 5.66 m3
0.45m3 ) ( -56
[A] = 2 4 [B] = 1
[C] = 1.600  km [0] = 2 0.45m3
[E]1= 3 [Fl1=1

28




5 (S02705-0002)
3cm 250m2

) (

m2

3cm

m2

5,700

5,700

TA09081

A-9

5,700

P0000001

5,700

P0000002

1
(sjt)=FUNC_TANKA((SJc))

4,750=FUNC_TANKA(TA09081)
(SIH)={1 (S)+ 100}x (K2)x (K3)
1.2=(1 20+ 100)x 1x 1

(SID)=(sjt)x (SIH)
5,700=4750% 1.2

3cm

(5]

250m2

nonn
e

[E]

29




6 (SPH201-0001)
10 m2
-168 , )
TR01003 R-1
6 22,000 132,000
480mmx  620mm PE-2 TP37001 P-6
170 17 2,890
P0000001
134,890
P0000002
13,489
1
[Al=1 [vl =

30




7 (S$1207-0001)

( )( ) ¢ =300mm 3 100
( , ) ( -287 54, )
( )( )
@ 300mm TPW0834 P-75
101 1,854 187,254
TR01001 R-1
0:3 29,200 8,760
TR01003 R-1
0:8 22,000 17,600
P0000001
213,614
P0000002
2,136
]
(S1t)=(s1t)x (SM)
1,854=4120% 0.45
]
[A] = 2 ¢ =300mm [B] = 3
[c1= 2 [v1 =

31




8 (SPS111-0001)

') 2.5 0.1 100
( > ) ( -2 > )
TR01001 R-1
0:22 29,200 6,424
TR01003 R-1
0:69 22,000 15,180
(RC-40) TJ03118 J-71
11:5 m3 2,550 29,325
2
0.28m3( 0.2m3) TM502002112 P2-1-10
+10 1:9 2,090 3,971
« )
TR01021 R-1
0:3 27,600 8,280
JIS1 2 TJQO502 J-73
11 140 1,540
P0000001
64,720
P0000002
647
1
(81)=100x [D]x {1 (K)}
11.5=100x 0.1x (1 0.15)
(M=(0)
6.3=6.3
(rl41)=1+ (1) 1
0.16=1+ 6.3
(R141)=(r141)x (KS1) ( )
0.3=0.16x 1.9
(ky)=(KW)x 0.144 1
5.9=41x 0.144

32




8 (SPS111-0001)

«C ) 2.5 0.1 100
( ) ( -2 )
(KyD=(ky)> (KS1) ( )
11.21=5.9x 1.9
1
[A] = 1 2.5 [B] = 1
[cl1=1 [0] = 0.100
[E]1= 1 [Fl1= 11 (RC-40)

33




(SPR302-0001)

( )( 100 m3
-201 , )
i1
3 TM301000121 p2-1-1
1.2 5,660 6,792
« D
TR01021 R-1
0.77 27,600 21,252
JIS1 2 TJQ0502 J-73
19 140 2,660
TR01003 R-1
0:3 22,000 6,600
P0000001
37,304
P0000002
373
1
(D)=130 1
130=130
(Ky)=25x 100+ (D)
19.231=25% 100+ 130
(R14)=1.00x 100+ (D)
0.77=1.00x 100+ 130
(KS)=1.56x 100+ (D) (

1.2=1.56x 100+ 130

[Al=1

34




10 (S05801A-0001)

10
( » ) ( -1- -1 » )
L=2000mm 1000kg/ TA71103 A-21

10 3,419 34,190

P0000001
34,190

P0000002
3,419

1
(dht)=FUNC_TANKA((DHc))

3,930=FUNC_TANKA(TA71103)
(DHHL)=(K1)*x (K2)x (K4)
0.87=1x 1x 0.87

(DH1t)=(dht)x (DHHL) ( )
3,419=3930x 0.87

[A] =1 [B] = L=1.0m 4.0m 5.0m
[E]= 3 L=2000mm 1000kg/ [Fl =3

[6] = 1 [Hl = 2

[ =7 [3] = 0.000 m3

[K] = 0.000

35




1 (SPX012-0002)

1m 2m m3
( , ) ( -11 283.50
Q) ()
21.49
[ " 3 )1
0.45m3( 0.35m3) TF08017 F-3
20.586 58.36 21.49 6,467.5 6,590
63.32
« )
TR01021 R-1
64.938 184.1 63.32 25,300 27,600
15.19
JIS1 2 TJQ0502 J-73
14.434 40.92 15.19 138.5 140
0.042 0.12
1
*"H 266.56 x {
(21.49 100x 6,590 6,467.50)x 21.49  21.49
(63.32 100x 27,600 25,300)x 63.32 |63.32
(15.19 100x 140 138.50)x 15.19 15.19
(100 21.49 63.32 15.19) 100} 283.50
1
[J1]1 =1 [J2] = 2 Im 2m
[33]1 =1 [J4] =1

36




2 (SPX016-0001)
1m m3
-22 2,910.00
D) (D)
6.01
i1
0.45m3( 0.35m3) TM302002221 p2-1-9
5.210 151.6 5.33 9,700 9,700
60 80kg TFP0401 F-3
0.733 21.34 0.68 471.25 520
90.52
TR01003 R-1
52.921 1,540 54.90 22,300 22,000
TR01002 R-1
28.546 830.7 27.09 25,700 27,700
« )
TR01021 R-1
9.096 264.7 8.53 25,300 27,600
3.47
JIS1 2 TJQ0502 J-73
2.470 71.89 2.50 138.5 140
TJQO501 J-73
0.967 28.13 0.97 154 157
0.057 1.64
1
(GD) 2,845.1 x {

37




2 (SPX016-0001)

Im

-22

m3
2,910.00

()

Q)

(5.33 100x 9,700 9,700 0.68 100x

(2.50 100x 140 138.50 0.97 100x 1

520 471.25)%
(54.90 100x 22,000 22,300 27.09 100x 27,700 2
57 154)x 3.4

6.01 (5.33 0.68)

5,700 8.53 100x 27
7 (2.50 0.97)

,600  25,300)x 90.52 (54.90

27.09 8.53)

(100 6.01 90.52 3.47) 100} 2,9

10.00

1
[J1] = 4 in

[v] =

1

38




(SPX034-0001)

12.5cm 17.5cm m2
40 0 , 1,501.00
Q) ()
5.53
L ( 2014)]
0.8m3( 0.6m3) TF08015 F-3
4.807 72.16 5.50 8,807.5 9,490
(
0.026 0.39
71.60
TR01003 R-1
27.455 412.1 34.31 22,300 22,000
TR01002 R-1
13.098 196.6 14.98 25,700 27,700
(
TR01021 R-1
11.859 178 13.40 25,300 27,600
TR0O1001 R-1
7.522 112.9 8.42 26,500 29,200
(
0.413 6.2
22.87
(RC-40) TJ03118 J-71
30.560 458.7 17.73 1,200 2,550
JIS1 2 TJQ0502 J-73
4.190 62.89 5.11 138.5 140

39




3 (SPX034-0001)
12.5cm 17.5cm m2
( 40 0 , ) ( -42 , ) 1,501.00
D) (D)
« )
0.045 0.68
0.025 0.38
[ 1
(G 1,217.7 x {
(5.50 100x 9,490 8,807.50)x 5.53 5.50
00 8.42 100x 29,200 26,500)x 71.60 (34.

(34.31 100x 22,000 22,300 14.98 [100x 27,700

25,700 13.40 100x| 27,600 25,3

31 14.98 13.40 8.42)

(17.73 100x 2,550 1,200 5.11 100x 140 138.50)
(100 5.53 71.6 22.87) 100}  1,501.00

x 22.87 (17.73 5.11)

[J2] = 8

vl =

=3 12.5cm 17.5cm
1

40




4 (SPX123-0001)

18-8-40BB( ) m3
( . ) ( -198 , 35,280.00
() €)
49.95
TR01003 R-1
28.175 9,940 30.88 22,300 22,000
TR01001 R-1
9.019 3,182 8.85 26,500 29,200
TR01002 R-1
7.843 2,767 7.87 25,700 27,700
C )
2.224 784.5
50.05
(18N/mm2 40mm 8cm)
18-8-40-60% BB TJQO181 J-36
52.732 18,604 50.05 15,450 17,600
0.007 2.5
]
(GD) 32,631 x {
(30.88 100x 22,000 22,300 8.85 100x 29,200 26,500 7.87 100x 27,700 25,700)x 49.95 (30.88 8.85 7.87)
(50.05 100x 17,600 15,450)x 50.05 50.05
(100 49.95 50.05) 100} 35,280.00
]
[J1] =2 [J9] =3
[N1] = 35 18-8-40BB( ) [J5] = 2
71 =1 [¥Y]j=1

41




5 (SPX125-0002)
m2
( -209 , 8,440.00
Q) ()
100.00
TR01009 R-2
45.912 3,875 44 .66 26,600 28,700
TR01003 R-1
28.922 2,441 30.77 22,300 22,000
TR01001 R-1
12.097 1,021 11.53 26,500 29,200
)
13.033 1,100
0.036 3
(G 8,042.9 x {
(44.66 100x 28,700 26,600 30.77 100x 22,000 22,300 11.53 100x 29,200 26,500)x 100.00 (44.66 30.77 11.53)

(100 100) 100}  8,440.00

1
[01] = 1 [J2] = 2
[vl=1

42




6 (SPX014-0002)

m2
-18 440.00
Q) ()
100.00
TR01003 R-1
100.000 440 100.00 22,300 22,000

]
(P7) 446 x

(100.00 100x 22,000 22,300)x 100.00
(100 100) 100}  440.00

100.00

[ 1
1= 1

43




(SPX034-0002)

7.5cm 12.5cm m2
40 0 , 1,348.00
Q) ()
5.88
L ( 2014)]
0.8m3( 0.6m3) TF08015 F-3
5.348 72.09 5.84 8,807.5 9,490
(
0.036 0.49
76.10
TR01003 R-1
30.579 412.2 36.47 22,300 22,000
TR01002 R-1
14.577 196.5 15.92 25,700 27,700
(
TR01021 R-1
13.197 177.9 14.24 25,300 27,600
TR0O1001 R-1
8.375 112.9 8.95 26,500 29,200
(
0.459 6.19
18.02
(RC-40) TJ03118 J-71
22.678 305.7 12.56 1,200 2,550
JIS1 2 TJQ0502 J-73
4.665 62.88 5.43 138.5 140

44




7 (SPX034-0002)
7.5cm 12.5cm m2
( 40 0 , ) ( -42 , ) 1,348.00
D) (D)
« )
0.045 0.61
0.041 0.54
[ 1
(G 1,145.7 x {
(5.84 100x 9,490 8,807.50)x 5.88 5.84
00 8.95 100x 29,200 26,500)x 76.10 (36.

(36.47 100x 22,000 22,300 15.92 [100x 27,700

25,700 14.24 100x| 27,600 25,3

47 15.92 14.24 8.95)
(12.56 100x 2,550 1,200 5.43 100%
(100 5.88 76.1 18.02) 100} 1,3

48.00

140 138.50)

x 18.02 (12.56 5.43)

cm

[J2] = 8

4 0

=2 7.5cm 12.5
[vl=1

45




8 (SPX012-0001)

m3
( -11 2,112.00
(%) (%)
20.81
12
0.28m3(  0.2m3) TM502003121 P2-1-13
20.166 425.9 20.81 8,670 8,670
71.39
« )
TR01021 R-1
40.923 864.3 38.71 25,300 27,600
TR01003 R-1
31.241 659.8 32.68 22,300 22,000
7.80
JIS1 2 TJQ0502 J-73
7.637 161.3 7.80 138.5 140
0.033 0.7
1
(P*) 2,046.8 x {
(20.81 100x 8,670 8,670)x 20.81 20.81
(38.71 100x 27,600 25,300 32.68 100x 22,000 22,300)x 71.39 (38.71 32.68)
(7.80 100x 140 138.50)x 7.80 7.80
(100 20.81 71.39 7.8) 100}  2,112.00
1
[J1] = 1 [02] =5 (

46




(SPX012-0001)

-11

m3
2,112.00

()

Q)

vl =

1

47




MELRFEE BOARFHRUE TH

[ % 9 %5 MET/%y s — (LSPX003-0001) ]
e L O-27) FERE(10, 000m3A) 1 m3 M40
(P de L ) i THAN# fii TP -357 ) 130. 40
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